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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

D. STRUCTURE OF EXAMINATION

L The structure of the Examinations which will be conducted online are as
follows: 2 Lo
/
e

- - ~ - - < - :
a. Preliminary Examination % ) -_{“&L\

Sr. | Name of Tests Medium No. of Maximu | Time allotted for
No. of Exam | Questions m . each test
Marks Kﬁt‘paratcl_\' umed))

I | English English 30 19N 20 minutes
Language R —
2 /| Numerical " @ 20 minutes \
<\Ability > — 1200 WL
3 | Reasoning . 35 35 20 minutes
Ability
Total 100 100 60 minutes

Candidates have to(mlif_\' in each of the threcmy securing cut-off marks to
be decided by IBPS. Adequate number of candidates in each category as decided
by IBPS depending upon requirements will be shortlisted for Online Main
examination.

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

Train A running at a speed of 36 km/hr crosses train B
in 20 seconds. Find the speed of train B (in km/hr), if
@ =8 ’f the sum of the length of train A & B is 600 meters and
( 5 both trains running in the opposite direction.
o0 = (64 /’Q)’(T@*%;m 36 fomttyerer o6 rfe & wroret w8 31 B Y 20 Sk
0@ = 3¢+ 3 UR Tt §1 TS T A 3T B shl SaTS T T 600 WX 3
3 A ¥ Ry o & St W S, A 3 B B iy

A= 3250 (b)) arterer s s
 (a) 72km/hr
(b) 54 km/hr
(¢) 48 km/hr
(d) 108 km/hr
(e) 81 km/hr

Last Three Years - PYQ — 2020, 2021, 2022
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A invests Rs. X in a business. After four months B
joined him with Rs. 2X and A double his investment. If
A A at the end of the years total profit is Rs. 13950, then
X x Lk exg X X 8 find the profit share of A?
A TS SFET | X §U T 91 T Bl OR HEH o 918
B 2X TUA o ATl Ik AT TS TAT 3R A 7 10T Fawr

IR T AT afe o 3 ofd § T AT 6. 13950 8, AT A
M KT o1 e e shiferar?
(a) Rs.7750
E ~<11s \ <(8»\3\(b) Rs. 7250
(c) Rs. 8750
(d) Rs. 6750
(e) Rs. 7050

Last Three Years - PYQ — 2020, 2021, 2022




A man invested an amount in two schemes in the ratio of 2 : 3
at the rate 0@.21. and 10% p.a. on compound interest
respectively. If the man gets a total interest of Rs. 1208 after

two years from both the schemes, the find amount invested by

man?

USh STTEHT 7 ST AT | 2:3 3 STUTA H HAI: 20% T a9

IR 10% Tfer TS Tshafg saTe <ht &% & ueh it fawr <hn afy
FTEHY T FHT AISTATST | ETA 18 hel 1208 TUA HT AT
forerar 2, ot stredt g e it g wivt 3 hifkme?
:’{Aoqb(l}@(a) Rs. 4800

~ (b) Rs. 6000

(¢) Rs. 5000
(d) Rs. 4500

(e) Rs. 4000 Last Three Years - PYQ — 2020, 2021, 2022
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The sum of the length of a rectangle and the side of a
square is 72 meters. If the perimeter of the rectangle is
84 meters and the breadth of the rectangle is 18 meters,
then find the measurement of the side of the square (in

L+a=+2

meters).

9 (44b)= 8L Teh 7T h TS 31 Teh o oY 9T 6T a1t 72 Wiet 31

i - AT ATAT T TRATT 84 HIEX § SR AT i <ATSTS 18
=42 HIeT g, a1 T <hT HAT shi HTT (WX H) AT hifeTu)
ﬂﬂg =L 2 (a) >

L=45-18=34 56

Th+q =32 (©) 54

Q=Lp | by @ 60
(e) 30

Last Three Years - PYQ — 2020, 2021, 2022
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The ratio of time taken by A, B & C to complete work
alone is 4: 6 : 3 respectively. If all three together
complete the work in 8 days, then find in how many

days A alone complete three — fourth of the same work?

A, B 3R C ZIT 3Tehet ST I oA W ToTT 7T T/ T
STUTA SHATT: 4: 6: 3 B AT AT (HeTeht w1 T § ToT &

URT YA §, 1 T ol foh A 3Thet SET ShTH T diH-TTeTs
T feRa ToAT & T sRem?
(a) 12

(b) 30

= |p (ng) () 15

— (d) 24
e) 18

Last Three Years - PYQ — 2020, 2021, 2022




In the following questions, there are two equations in x
and y. You have to solve both the equations and give
answer:

FrafeRaa w2 o, x 3T y W 21 I erTur 81 71Ukt gt
(a) ifx>y

(b) ifx<y

(¢) ifx>y

d) ifx<y

(e) if x =y or there is no relation between x and y

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

In the following questions, there are two equations in x

and y. You have to solve both the equations and give

answer: I. x>+ 2@10 =0
Treforiora sl #, x oy § &1 Ao €] SMUR & [ y2 + 17y + 72 =0
(a) ifx>y

(b) ifx<y
(c) ifx>y

d) ifx<y

(e) if x =y or there is no relation between x and y < Q %‘\?
S
<

Last Three Years - PYQ — 2020, 2021, 2022




In the following questions, there are two equations in x

and y. You have to solve both the equations and give

answer:

ﬁmﬁ%ﬂgﬁﬁ,xﬁyﬁam%l TR ST
(a) ifx>y

(b) ifx<y

(¢) ifx>y

@y ifx<y

(e) if x =y or there is no relation between x and y

Last Three Years - PYQ — 2020, 2021, 2022




In the following questions, there are two equations in x
and y. You have to solve both the equations and give
answer:

FrafeRaa w2 o, x 3T y W 21 I erTur 81 71Ukt gt
(a) ifx>y

@Afx<y

() ifx>y
@ ifx<y

(e) if x =y or there is no relation between x and y

Last Three Years - PYQ — 2020, 2021, 2022
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In the following questions, there are two equations in x
and y. You have to solve both the equations and give G@
answer: I. 6x*+5x+1=0
Treforiora sl ), x oy # &1 Ao €] SMUht &0 [ 15y2 + 11y +2 =0
THIHTUT ST BT ShTAT T 3T 37X ST BHIT: \\//gc
(a) if x > y l?_ B
(b) ifx<y —3 _Q]XA%E—‘EQO
(©) ifxzy -G —5 & =-Tame
@ ifx<y ’ 2. i
y if x =y or there is no relation between x and y

<
e

Last Three Years - PYQ — 2020, 2021, 2022




The population of a village is decreased by 10% in the
first year and then increased by 20% in the second
year. Find the population of the village at the end of the

second year if two years ago it was 15,000?
TSk T ShT FEEAT Ugel I § 10% HT & AT § R
T g A  20% I¢ AT 8| AT 31 o Uet 9% 15,000

oft it et o 3 aiet B 17t Y ST AT
(a) 16180
(b)- 16200
(¢) 16320
() 16360
(e) 16480

Last Three Years - PYQ — 2020, 2021, 2022
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A shop

keeper marked up a shirt S0% above the cost

price and allows successive discounts of 11 % % and 10%

on it. If the difference between profit earned and

discount given is Rs. 200 then find the marked price of

the shirt?
Teh ohTE R Teh TIE W NI Hodl | 50% 3TTereh qod

3ifeRd ShTaT T 33T W 11 % R 10% i Hftes g
<t 71 Ffe srfia e ok &t 718 ge o ot T st s, 200
’D\jq :@)%a%srémaiﬁmnﬁmaﬁﬁ'&?

(a) Rs
(OLRs
(¢) Rs
(d) Rs

(¢) Rs

. 2100
. 3000
. 2400
. 3600

- 3300 Last Three Years - PYQ — 2020, 2021, 2022




The downstream speed of a boat is S km/hr more than its
upstream speed and the ratio of the speed of the boat in still
water to the speed of the stream is 19: 5. Find the total time

taken by boat to travel 42 km downstream and 31.5 km

upstream?

Tk ATE <hl T o ATeheT T ITehT AT o Tfdehet Tid & 5

Terit/ereT etferer @ ot vria Uttt ® At <t i 3T ermy <hy 7ifa

T STTUTA 19:5 1 TS ZIRT 42 TeRwt S amm et & Toram wam e
THT T hITTY| &R o ATeheT AR AT ok Afdewer 31.5 Toret?

(a) 7% hr

(b) _8 hr

(¢) 9hr

(d) 9%hr

(¢) 10 hr Last Three Years - PYQ - 2020, 2021, 2022




A container contains a mixture of two liquids P and Q

in the ratio 5 : 3. If 16 liter of the mixture is taken out

an c ith liquid Q, then the new ratio of liquid

P to liquid Q becomes 1: 1. Find the initial quantity of

mixture in the container.

Tk Shen H ST AT UaTel P 3 Q =T fisruT 5: 3 % S1quma

# 21 Tfe fHsror &6t 16 weX Frentet foram ST @ i@ Q
| Fae T ATt 7, @ aXeT P 3R aeT Q T 4T AUt

1: 1 87 AT 81 ek ¥ forgror it urifires wmam 7ra fifs
() 80L

(b) 60 L

(¢) 70 L

(d) 48 L

(e) 96 L Last Three Years - PYQ — 2020, 2021, 2022




The ratio of the present age of A to B is 8: 5 and the
average of the present age of B and C is 35 years. If five

years ago, the sum of ages of A and B was 55 years,

then find the difference between the present age of A
and C.
,q~b+r5‘ = A & B 1 STAHT AT 1 ATUT 8:5 ¢ 3R B 3R C At

/%Lyg\ 554545= €5 TAATT ST KT ST 35 T 1 ATS Uil 99 Uget, A JRB
—— ﬁmaﬁraﬁﬂssaﬁma‘maﬁ'{caﬁaﬁnﬂm%

e

(a) 12 years
(b) 5 years
(¢) 9 years
(d) 8 years

(e) 4 years Last Three Years - PYQ — 2020, 2021, 2022




The line graph given below shows the e

total number of (Photos + Videos) 50
shared by six (A, B, C, D, E & F)
people in|December 20@ Read the

data carefully and answer the

40

30

questions. 20

e feam =T e T [TEE R 20197 ¢ g0

BT (A, B, C, D, Eaﬁ'{F)FﬁTﬁm‘{T@T@{‘

feru T e (wet + Sffean) frw e
AT fIETar 21 TST Rl &9 ¥ ue 3T
HATAL o AT S|

'2

)

2
A

Last Three Years - PYQ — 2020, 2021, 2022




> The total post shared by C is what e
percent less than the total post shared 50
by D?
C BT 9T Y T3 Ted G, D g ATAT
61 1T et U | foha feroTa /w2
(a) 20% 20

40

30

(b) 25% Big o
el

) 15%

) 10% = qav,

(e) 30%

Last Three Years - PYQ — 2020, 2021, 2022




# In January 2020 total posts shared by

B & Fis 12 and 15 more than previous

month respectively, then find the total

number of the post shared by B & F in
January 2020?
A 2020 § B & F gRT GTAT fohU U

el Uree fUser AE Rt Tt | HasT:
12 31X 15 37fereR g, a7 ST=ar 2020 § B
& F g AT fohg 70 Uiee Y et ST

At hifse?

(a) 95 (b)91
(d) 97
(e) 99

Last Three Years - PYQ — 2020, 2021, 2022




> Find the average number of posts
shared by A, C & F?
A, C 3R F g 9T {ehT T Ui <l
T HEAT AT hIfTU?
(a) 42
50 +32+38

(b) 48

KO

@36 = 120 _ Lo(D)e
0 Lo(b

(e) 44

Last Three Years - PYQ — 2020, 2021, 2022




> Total photos shared by E is four more

than total videos shared by him, then
find total videos shared by E?

E SRT AT 3T T3 Het aEdN 3Heh g
et R TTT et Sfifeat & wm arfies €,
at E gRT Arst fory g et sfifeat ama

e RV = §

o j@‘ RV -ty

(c) 28 -
@) 22 3\)& =

(e) 30

Last Three Years - PYQ — 2020, 2021, 2022




> If the ratio of total photos to total
videos shared by B is 5: 9, then find
total photos shared by B?

i B ERT AT feh T T hed et AR
el AT T 3TUT 5:9 7, A1 B 5T

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

(2+5+7)x 14+ 112 = 420

(a) 710
(b) 720
(¢) 660

(d) 770 ~

(e) 750

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

Qé52%5%+|) (2)@*16732D + 122 =360
X

—+lhi=3¢o
(a) 4

A= = g1¢ (e

(e) 3

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question mark in

following questions.

ﬁmﬁﬁaasr&ﬁﬁsr%ﬁ%l—gﬁawww STRATT?

0f128+—>s/4 ? +10

(a o4 _
e @ e
© 60

@d 56
(e) 82

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

e

V81+?= 27
T T VBl+

X =L

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

14>+ 179+ (5)*=(?)?
196HF+Q5 = x>

(a) 10

\ D 3
© 30 B é) {hw
X=2.a

(d) 40
(e) 22

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question mark in

following questions.

/ Freateaa gt o uy forg o T2 ) =T R

(28.5x 34+ 2320 + 8 = (36)* - 2

%%&ﬁo = [29C -

(a) 51

o o o (296 — 359

() 43 LJ
@),

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

60
1125 + 45606 — 175 x 7 =2

+ A a5 =

(a) 1035 0
) 915 =097 §

CXZBL

(d) 1105
(e) 1155

Last Three Years - PYQ — 2020, 2021, 2022




What will come in the place of question mark in

following questions.

Freateaa gt o uy forg o T2 ) =T R

80% of 2 = \/250 x 44 + 40% of 8500

@o/;y_ 10060 4~
(a) 80 * J 390 0

(b) 120 @6/:;5? J Qébg

(d) 1’ \

(e) 240 S /‘ZS
T=[%

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

ﬁmﬁ%ﬁuﬁﬁu&m%wwwaﬁm/ ?

L0 5
8 & a 2% e
XXW%X;§/=%?X4O+24XZ7=;9§}:%§
5

_8_8.
= @1 T
%1 [ b (b) 2

) 3
d) 4

(e) 5

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

7«’ “ssj

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

2 2+ 13 x50 =420 + 45% of 8§66 + 220

A= YR 18 ] € 3¢o

(a) 300
(©) 400

(d) 450
(e) 250

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

130

12 % of 2 @ 0f 960°= 16 x 12
|o?‘/¥w< = (92 — 126

(a) 840

,l/f X () 960

(c) 800

= 37
=k

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

o
15 % ? @ofgscr= 360

=

(a) 12

(b) 20 1S X =30
d) 16
) 18)

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question mark in

following questions.

ﬁmﬁ%ﬁmﬁﬁu&rﬁaﬁawmw SATRAT?

/Z {{Z S 0o
75% 0 X—X/lﬁﬂﬂ/—"+600

=)
(b) 400

(¢) 250
(d) 480
(e) 540

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

? 84 0f 900 + 500 =4 x 197

I+500=9¢8

(a) 28
(b) 25
(c) 36
d) 40
(e) 32

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

? % 01900 + 500 =4 x 197

(a) 28
(b) 25
(c) 36
(d) 40
(e) 32

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question (?) mark in following number series.

FreferRaa st sfaer o war (2) g o T o« e

S0, 75, 175, 400, 800, ?

@ Hig =1

(©) Prs 11 Grmend

(e)

Last Three Years - PYQ — 2020, 2021, 2022




What will come in the place of question (?) mark in following number series.

FreferRaa st sfaer o war (2) g o T o« e

8, 18, R1 78,

(@) Hiw->2

——

(c)

(e)

Last Three Years - PYQ — 2020, 2021, 2022




What will come in the place of question (?) mark in following number series.

FreferRaa st sfaer o war (2) g o T o« e

(a) 48
(b) 46
(c) 43
(d) 49
(e) 41

33,

Hbo —> 2,

64,

77, 94

Last Three Years - PYQ — 2020, 2021, 2022




What will come in the place of question (?) mark in following number series.

FreferRaa st sfaer o war (2) g o T o« e

89, 47, 19,

)/I-LJ—%L]

Last Three Years - PYQ — 2020, 2021, 2022




What will come in the place of question (?) mark in following number series.

FreferRaa st sfaer o war (2) g o T o« e

(a) 441
(b) 443
(c) 447
(d) 431
(e) 451

100,

AR Rl

225,

Last Three Years - PYQ — 2020, 2021, 2022




Line graph given below shows total
number of boats and ships
manufactured by four different

companies irr 2020 Jand it also show d%

total number of ships manufacture

graph carefully and answer the _E)_
b.

questions. t@
Frer fom T ATeT T 2020 §OR
AT shutat grT e e 2t
STETSAT ehl SheT EEAT hl SUITAT § AR AT
3 AR st grr Al et i we
TEAT <Rt ST 9T 31 AT TTH <Rl
SITTYE UG 1 T2t & S S|

these four companies. Read the line {

Last Three Years - PYQ — 2020, 2021, 2022




250

2 ot
f 3 of total’boats manufactured by B

200

are used by general people and rest

used by fishermen, then find total boats 150

used by fishermen are what percent of

100

total ships manufactured by A?

afy B g ffia wer et w QT
SR gRT ST RT feRar ST 8 aﬁ? qreht ’
waﬂﬁ FRT SULRT fehaT ST 2, A —Total Number of (Boats + Ships) Manufactured
ﬂ@‘?ﬁﬂ'ﬁ T U Y T3 Hed 719 A BT —Total Number of Ships Manufactured
ﬁﬁaama‘mﬁam ﬁmmuﬁrm%‘?/@
(a) 30% (b)33.33% - i

@ d) 37.5%
(e) 50%

50

Last Three Years - PYQ — 2020, 2021, 2022




250

- If total number of boats and ships
manufactured by’CADin 2021 is 40@0% 200
than that of in year 2020 and total , & 150
number of ships manufactured by A in>
2021 is equal to that of in 2020, then find !°°

the total number of boats manufactured 50

by Ain20217 /- %V—: WS
zr%zozlmmﬁfawa&aﬁxmﬁ R
ﬁW‘{T@IT Elﬁ 2020 af'ﬁ'm ﬁ‘ 40% 09\1 5 —=Total Number of (Boats + Ships) Manufactured

31'&55% AR2021H A mﬁﬁam . —Total Number of Ships Manufactured
R HeT HEAT 2020 o TR ¢, AT 2021 | ZQ
mﬁﬁamﬁa’ﬁwwmsﬁﬁq Q}\&

(@115  (1)105 ()75 (d)85

Last Three Years - PYQ — 2020, 2021, 2022




P Find the ratio of total boats
manufactured by C & D together to

total ships manufactured by B & C

together?

C 3R D g fhrerra e shet amat
T B 3R C g fuerreRt ffda et —

STETST & SITATA AT hiTeTU? 0

-

Iy = F5+HSD :

—=Total Number of (Boats + Ships) Manufactured

==Total Number of Ships Manufactured

Last Three Years - PYQ — 2020, 2021, 2022




0

If manufacturing cost of each boat for 23

company D is Rs. 4600, then find the 200
total cost (in Rs.) of all boats
manufactured by D?

It ot D & foro

AN S, 4600 2, AT D

(a) 240000 (:)
(b) pRTII —=Total Number ofanufactured

==Total Number of Ships Manufactured

¢) 233000
(d) 220000
(e) 230000

Last Three Years - PYQ — 2020, 2021, 2022




250

#®  Total boats and ships manufactured

by A & B together is what percent 200

more than total boats manufactured

by A & D together?

A 3 B ZRT forerert Ffifer et et afie 1%
BT, A iR D g et A e 0
AT W Toha TTdoTd TTereh &2

150

0
(a) 300% - o, /D A B
W ’ \j[ S _|— 22/5 G 5/1) Jr (9 —=Total Number of (Boats + Ships) Manufactured
(c) 250% é" gb/@ '_ \m _% —Total Number of Ships Manufactured

(d) 400% L |
() 350% 5 |

= 3 . (
Last Three Years - PYQ — 2020, 2021, 2022




Six years ago, sum of age of Amit and Den is 20 years.
Mohit is six years younger than Amit and the average

of present age of Mohit and Den is 13 years. Find the

present age of Den?

g TN U, TTU ST 3 T 37T T ART 20 9 71 Wifee,
AT & B a9 BleT 7 AN AL 31 7 Y adu™ g

T AT 13 TW 7| S hY TAH AT AT b ?

———(a) 16 years
(b) Can’t determined
(c
(d) 14 years
(e) 24 years

Last Three Years - PYQ — 2020, 2021, 2022




The perimeter of semicircle is 36 cm and the radius of
the semicircle is equal to the breath of a rectangle. If
area of rectangle is 147 cm?, then find the length of

rectangle?

ST <hl TRTET 36 THT 7 IR 1efa oh! FBran weh amaa
o1 T o TR 21 TfE 3 T QT 147 Qe g, av

Wﬁ?ﬁﬂ?mﬂ =

(a) 10.5cm

(b) 28 cm Qx:p ~ L

(c) 14 cm
(d) 21 cm m

(e) 35 cm

Last Three Years - PYQ — 2020, 2021, 2022




Sum of six consecutive odd numbers is 150 more than
erage of these six numbers. Find the sum of highest
est number?
TITTe o e &t It 3 g ATl o aTEd
T 150 37feres Bl I=TaW TR FAaw ST 1 a0 3719
LS fafmrn - 0H (et (2

@60y — < X6

/)W _ ?%Lg)(‘l‘é

KI«M: 6* 4320 (b) 50 ;ZXZS——}—[Q

%430 5= 1D @70
e (d) 45 -
SX=18S (e) 55 @

Last Three Years - PYQ — 2020, 2021, 2022




P and Q started a business by investing Rs. X and Rs. (X +
100) respectively. After three months, P withdrew 40% of his
initial investment. If at the end of year, P got Rs. 210 as profit

P 3T Q ¥ SHHTT: Xaﬁwq'&(x/\
IETT Y& e i 7 &

Sifere?
 (a) 1750
= 1O HUAQ) 1250

= Qine @250
MKL%:\%dd)EOO’VB

(e) 2000 Last Three Years - PYQ — 2020, 2021, 2022
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A man invested Rs. P on simple interest at 18% p.a. for
three years and received Rs. (0.5P + 100) as interest. If
man invested Rs. (P + 3500) on compound interest at

10% p.a. for two years, then find amount gets by man?

SLP= S0P+ (00 || TH S A S, kT e R 18% i o R
LP =100 @ 1\{—2 HTARUT AT T Y, T ATet o TeTu &R wor wmw ferg)

m (0.5P + 100) ST o &Y H) Ffs 7T T 5. (P+3500) 10%
ST Q uﬁraﬁsﬁaﬁmmmlﬁa‘ﬁ%%q ar wg

Toos e oY e dny et i v

1. Co (a) Rs. 7240
(¢) Rs: 0

(d) Rs. 7460

(e) Rs. 7040 Last Three Years - PYQ — 2020, 2021, 2022




Pipe A can fill a tank in 4 hours and pipe B can fill the
same tank in 6 hours. If A, B & pipe C can together fill
the same tank in 3 hours, then find time taken by pipe

C to empty the tank?
UTST A Uk ek hl 4 B¢ W W HehdT § 371X UTST B 3T e

6d%ﬁmm%laﬁA,Baﬁqucﬁﬁaﬂaﬁ

S I 3 TS W W TR g, a7 U187 C TRT ok hil TTAT
;\2\%5 A W Tt T aue e hife?
(a) 24 hours

( o) (b) 12 hour
/
(¢) ours

(d) 8 hours
(e) 18 hours

Last Three Years - PYQ — 2020, 2021, 2022




- The ratio of marked price to selling price of an article is S
Vo%”’ 3 and shopkeeper gets a profit of 40%. If shopkeeper
S\lls the article at its marked price, then the difference

between cost price and marked price of article is Rs. 400.
Find the cost price of the article?
Tk ] o 3ifehd Hod SR foshd Hed T 31uTd 5:3 § TR
FHFIR AT 40% ot T FeremT 1 aﬁmaﬁaﬁ
wﬁaaﬁmu—qwaﬂ% a‘r?emmn—a 3ﬁ'{<‘=r{=?r%5 aifera
Hed o ST T ST E. 400. a@a?ramn:qmaﬁﬁ'&.
(a) Rs. 540
(b) Rs. 480

. 600

.300

-360 Last Three Years - PYQ — 2020, 2021, 2022




A vessel contains mixture of milk and water in the ratio
of 7 : 3. If 50 liter of milk is added into the mixture,
then the quantity of milk becomes 80% of the resulting

mixture. Find the initial quantity of milk in the

mixture?

Teh I | g SR T ot firsror 7:3 o erua | ¥ Aty

fororor 7 50 witex gur forerraT StTar 2, @ gur <t A
afeoTTt ferror sht 80% & STt 21 frgror o ger by it
TTSAT [T Shi T ?

(a) 112 liters

(b) 105 liters

84 liters M
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Ram alone can complete a work in 40 days. If Ram and
Shyam together take 37.5% less time than Ram to

complete the same work, then find in how many days

Shyam alone can complete the work?

W 3Tehet Ueh htdl okl 40 ToAT W U1 ST TrehaT g1 ATS TR
3R gaT foreTent S Tl Rl 0T T W T & 37.5% A

U od &, 1 [T shiieTe foh o stehet fepa et o
HTH N Y TAhAT 82

(a) 562 days
/(b) 58 days

(0 q(7c) 50 days
(d) 66 dazf/
(e) 331 i day

3
Last Three Years - PYQ — 2020, 2021, 2022




Arun spent 60% of his monthly salary on
accommodation, 15% of remaining salary on
entertainment and remaining salary he saved. If the

difference of amount spent on accommodation and his

saving is Rs 3510, then find his monthly salary?
STEUT 7 U HITHh AdT T 60% ST U1, I S kT

15% FTHST U 31X 99 Sd+ =T IS SATars ol T
<hT 7T TIST TR STehT el <At 37X 3510 TUA &, AT IHhT
HTTHeh I AT hi?

(a) Rs. 12,500

(b) Rs.13,500

(¢) Rs. 12,800

(d) Rs. 14,000

(¢) Rs. 15,000 Last Three Years - PYQ — 2020, 2021, 2022
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The length of train A is half of the length of train B and
the ratio of speed of train AtoBis4:3.If train A & B
< can cross 100 meters long platform in S sec. and 10 sec.
l{ﬂ)_l_ L = A%X b__—- @

respectively, then find the length (in meters) of train B?

D= 3% X)o- - 2T A Y TS 2 B Rl iaTS <At ATefT 3R 2T A 3 B
XY o= 2@ QWQ <hT T AT STTUTA 4:3 81 AT T A TR B 5 9k | 100

|0+ L é/L‘X'D?( nﬁaa&@zwrﬁaﬁmaﬂm%laﬁnomm,
|+l BX/‘EE Al 2 B <hl w8 (Het H) [T hi?
(a) 200

= BGZH' 3= 3\®+LL(b)

L 210y (c) 140
(d) 240

(e) 120

Last Three Years - PYQ — 2020, 2021, 2022




The ratio of speed of boat in downstream to that of in

upstream is 4 : 1 and total time taken by boat to cover a

certaln distance in downstream and upstream together is
Fllld the time taken by boat to cover the same

dlstance in still water?

&IRT o ITTHeT AR LRI ok TTdehet AT hl T T SATATT

4:1 € IR U ok ATeheT IR &R ok Afdiehet Teh T2 gt
T AT HIA | AT R ToTAT 7T el |9 10 w1 97 arHt
T T G T R H AT G T T qn /e shifr?

(a) 3 hours and 24 minutes

(b)~3 hours and 12 minutes
(¢) 3 hours and 10 minutes

(d) 3 hours and 15 minutes

(¢) 3 hours and 20 minpfes,, .. veqrs - pvq - 2020, 2021, 2022
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What will come in the place of question mark in

following questions.
Freaferiaa oot & oy foreg o T W =T SIRT?
\S’O O \\%%

64% of 2500 + 75%. of 1600.= ? x 112

(60 + (200 = [127x

(a) 28
(b) 21 A Z%:QQQ >

(c) 24 :} Eﬁ
(d) 32 k m

wifly Iz ap ts

\

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

55% of 1400 + 22 +282= (12)3

At g s
o

(a) 28

(b) 24 )( -
)

(e) 16

Last Three Years - PYQ — 2020, 2021, 2022




What will come in the place of question mark in

following questions.

Freaferiaa oot § oy foreg o T W) =T SReT?
Mbjgbo
7.5%. of 7200
‘7’ 450 = 15% of 32600

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.
fafRaaaana o ﬁ%ﬁ?ﬁ%’?mw JTRATT?
" X &8 o~ | Fo
—+ns G R

2
92 4 22496 =L85% of 280 +34 52 8

C= AU RN %

(a) 18

o IS

(©) 16
(d) 14
(e) 8

A=

Last Three Years - PYQ — 2020, 2021, 2022




What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

? x 7+ 337 =(5) + 436

Ix = YL FEAREH

(a) 36
(b) 44 4x= o 2

oo
d) 45

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

7+ 6+(12)2- 230 —(14)2

(a) 1100 é _LL(@ = |96
(b) 400

(c) 600 6 -/{7Q-— m\

(
ORE X3E\fi_f§fﬁ§]
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

(7% 48) ~ 54 + 82 = 96
(xLex L = qe—c
g 7

54

(a) 45

7
Bl
96:3

Last Three Years - PYQ — 2020, 2021, 2022
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What will come in the place of question mark in

following questions.

ﬁmﬁ%ﬁo AT H T g o TATT U ST SATATT?
\

1 2

2§+5§—3§@+8§ =0

Last Three Years - PYQ — 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

AT H T g o TATT U ST SATATT?
Zg q

@@+ 7 =7°

g7 =2

(a) 4
(d) 6

(3
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

909711 +10=? +15.7

] _ -
XLl — x4+l O
(3)87W/U

b7 OLF

(-ic) 6ﬂ

(d) 57
(e) 47
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.
ﬁmﬁ'ﬁa?rsr%ﬁﬁsrarﬁ—&'igmmw SATATTT?

\65
15 x12 — 10 11—-15 17+"

B - /%H/Z/%%

(a) 330
(b) 345
(c) 335

(e) 365
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

What will come in the place of question mark in

following questions.

Freferaa gt ® o foreg o T2 o T STRT?

35x5+19 x 7+ ? = (20)?
23S+ 132 4= Lo

DN Y= Loy - Do g

(b) 103

(¢) 97
G-
@90 Uy

Last Three Years - PYQ — 2020, 2021, 2022
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If the average of present age of A and B is 18 years and six

years hence A age will be two times of age of B that time.

Then find the difference between present age of A & B?
)q(’qt[%o: 5G AaﬁTBaﬁaﬁunmmaﬁmlsaé%aﬁ'{mﬁ%
priey B = 3CHTC ™ odiama A ot o e weer B o6y iy A g ot A

U (A é@l ﬁTBaﬁaﬁnnméaaﬁawmaﬁﬁ'&?
7 -

_(a) 14 years

a @) 16 years|
‘(j@X ‘ (¢) 20 years
3 (d) 8 years
Y\ . (e) 10 years

iy
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Varun invest‘Mat the rate of 8 % per annum fof fiv
years and obtained total simple interest of Rg. A
invested the same amount at the same rate of inferest for

two years, then how much amount would he haye obtained

as compound interest (compound annually)? | QU

FEUT A . T 9T foRar. X 1 uir gt o foru 80 uta a9 i

T AT ToRAT 3T HS ATLRUT ST &. 5000. ATS I THH
ST T AT ST S U S a6t o, foru st foma grar, ar s&
AhATg SATH (TR AhAT5) o &Y H Toher=1 [T ITH TreAl?

(a) Rs. 2010

(b) Rs. 2050
_(¢) Rs.2060

(¢) Rs. 2040
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A man starts from point P to reach point Q, which is 20
kms apart. If speed of man i§5<l<mph, then find what

percent should he increase his speed in order to shorten

the journey time by 3/5th?
Teh Tredt foig Q @k uger o foru foig P & wer &
AT 8, S o 20 Teoretrte g2 31 afe vy s ifa 5 fordft

Tfer €T 8, a7 ITAT T THT 3/5 HH A ok o0 3; 319+t
Tt Teraw gfvTa gt =fze?

(a) 165%

(b) 140%

© 175%

(d) 125%
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Pipe A alone & pipe B alone can fill the same tank@
hours and@murs respectively. If the ratio of efficiency

of pipe A & B together to that of pipe C alone is 9:2, then
find time taken by pipe C alone to fill the same tank?
UTST A 3Tehed 3T UTST B 3Tehed SHT 2ok hl SHAT: 5 ©¢ 3R
4 €¢ T W Wehel §| ATS UTST A 3R B T et geaar ot
3TRET UTSY C <hT SRTAT | 3TUTT 9:2 &, AT 3Tehet UT3T C
T SET 2ok okt W | feraT mam v 7T hifse?
(a) 8 hours

_— (b) S hours
(¢) 6 hours

_—>(d) 10 hours

(e) 12 hours
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p /‘/) xl%

A is 40% more efficient than C and B is 50% more
efficient than A. If A and C together can complete a

’2—)‘7 piece of work in 45 days, then find days taken by A, B

. A 1 7_ L= I( . _{/ O & C together to complete 50% of the work?
/PS‘ P A, C T 40% T8 HITT & AR B, A W 50% 3Tereh Horet
g =3 2EA i e e faeh a2 45
W 1OT = 1 e 3, 9t A, B 3 € 21T 509% ot ot v 3 Fore

L2 Qh)x— T o T ) T

PAY= (a) 20 days

(b) 24 days

12 W (QM | (¢) 26 days
P d) 12 days
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5% of X'is equal to 60% of Y and the average of
both the numbpers is 20 less than the X, then find 60%
of Y?

TfE X T 45%) Y o 60% o SIS 3T ST Geamert &1
TEd X ¥ 20 T E, a‘rya»-rm%mﬁﬁmv 1

(a) 108

(b) 64

(d) 96

(e) 80

%}XBK\

»‘11
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L, @ 2
(euo-) )72 X
h(cum—2) . 3x

P & Q invested total amount of Rs.6400 in business for
12 months and 9 months respectively. If P & Q gets

total profit of d profit share ¢f P is Rs.160(
then find investment of Q: ~ 2006

P & Q 7 ShUTT: 12 WEH 3 9 HE o ToT¢ a8t § el
6400 T T AT feraml Afg P 3R Q i et 3600 A
T AT AT 2 3R P Rt 19 f20T 1600 SUF 7, a7 Q
EAREENEIGEETISIY

(a) Rs. 2400

(b) Rs. 3000

(¢) Rs. 3600

d) Rs. 4000
(6) Rs. 3200
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A vessel contains 64 liters mixture of milk & water in
the ratio of 9 :7 respectively. If ‘x’ liters of milk is

added in the vessel, then the new quantity of milk

becomes 75% more than water in vessel, then find ‘x’?
Teh i U SRATT: 9:7 o SATUTA W U IR UTHT T 64 T
Torsror 31 =i st | 'x' oftet gU ST ST, A gereht 78

HTHAT S | G & 75% 3TFereh 21 ATt 2, af 'x' [
shifere?

(a)7

(b) 9

() 10

(d) 13

(e) 11
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Shopkeeper sold an article after allowing two successive
discounts of 15% and 20% on it. If shopkeeper earned
2% profit on selling the article and total discount allowed
by him is Rs. 192, then find cost price of the article?

FHRTER A Teh o6 WX 15% 3HR 20% T ST hileh FE I H
aﬁzﬁéml afe THEIR A o6 Se W 2% malﬁ-i?r

%mﬁwﬁm&wwzgca 192 &, & 5% 1
e [T chifoTar?

(a) Rs. 500

(¢)Rs-300
(d) Rs. 600
(e) Rs. 250
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Average weight of a group is 36 kg. If a student having
weight of 48 kg left the group, then the average weight

of a group is decreased by one then find the

number of people in the group initially? -

@mwaﬁmmwm%mﬁmsm
TS ATCAT Ueh BT THE BIS 3T 8, Al THE T A 1T

T TRt W B SITAT &, 1 ST o |HE | &R0 <
TEAT [T hi?

ORE

(b) 10

ORE

(d) 16

(&) 20
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

A B Speed of train B is 20% more than speed of train A and
§ 5 g I < length of train A and B is 720 meters and 600 meters
' Sa L respectively. If both trains running in opposite

( c );1%9 " /S X ﬂ/egj direction cross each other in 24 second, then find speed

= f trains B (in km/hr)?
= 1o Bl/F ()
‘JQOJr@c/b:\\fpgx?lg’%mﬁnﬁaqmﬁnﬁﬁzo%ar%%aﬁwﬁAaﬁi

% B <A SiaTS SRATT: 720 HieX AR 600 HieX 1 e faadia
% © :/Y(DO%%H foom & wrer aTeft ST ¢ 24 Fehe H Uh-gEY T IR AT
& $ 3 B 1 iR (Reefiyerer ) A e

@ (a) 160
(b) 84
¢) 144

(¢) 20 Last Three Years - PYQ — 2020, 2021, 2022
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Cf If perimeter of a rectangle is 4.5 times of its breadth
/ 2 and length of the rectangle is 25 meters, then find the

area of rectangle (in meter square)?

o (Q%) b=9:2 Aty foRelt sTTare T UReTTd SEEhT SiTeTE & 4.5 TAT § 3R
0Lk @2_ JATIA <hT TS 25 WX &, AT T okl QSthed (Wi it W)

> Lo FEw

/Q; oS (a) 480

(b) 400

(c) 500

(d) 750

(e) 600
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The ratio of income & savings of a man is in ratio of
16:3 respectively. If his savings increases by 1/3 rd and
expenditure increased by 1/2, then find the ratio of new
income to earlier income of man?

Teh ATEHY Y 31T ST STed oht SITUTA ShAT: 16:3 71 AfY
3T T 1/3 I AT § AR T 1/2 9 AT &, A AT

ht 73 31T w1 furselt o | SruTd FTa hifrar?
(a) 39:32
(b) 23:16

(c) 47:32
(d) 32:19
(e) 47:36
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A man invested Rs> 0 on simple interest at R% p.a.

If interest received ll\)‘foman’%th'ree twentieth of the

principal after three years, then find ‘R’?

Teh JTEHT T RY% Tt T HTLRUT AT UX 25000 U hHT
e feram afs = o atTg wer w6t T ST were Rt
7 ST THT B, 1 'R AT shitaTg?

(a) 5.33%

(b) 4.33%

(¢) 6.33%

(d) 3.33%

(e) 8.33%

Last Three Years - PYQ — 2020, 2021, 2022




Speed of a boat in still water is 6 km/hr and speed of
the current is 2 km/hr. If boat takes four hours more in
upstream than in the downstream to cover ‘D’ km, then

find time take by boat to cover ‘D’ km in still water?

ST UTHT H Tk 970 <kl T 6 Torwi/eer @ o oy <hy i
2 fri/ger 21 afe e &l D Rt ag T & 9T &6

wfceret fawTT &t TorT # & o eieher faT # IR wie
2ATereh THT THTAT &, A I ur= 1 'D' fepHt ar s W
TS ZIRT FoTT 71 90 AT <hifere?

(a) 5 hours 30 minutes
- S_J\ .. (b) 5 hours 45 minutes

(¢) 5 hours 10 minutes

Wrs 20 mm@

M
0 IL () 5 hours 40 minutes . 1 . v... pyq_ 2020, 2021, 2022




IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

Table given below shows number of functions Months Hall A HallB  Hall C
organized in three halls (A, B & C) in four April 48 72 75
different months. Read the data carefully and May 60 56 64

answer the questions.
F=r Y TS ATfeTeRT TR ART-3TeTT HE T | o 1 &1
(A, B 3T C) W STTATd ARG shl HE&AT S9Tid 2 42 80

40 30

3T T LAY UG HR T2 & I S|
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

Total number of functions organized in all three =~ Months HallA  HallB Hall C
halls in month of June are @hat percent(approx.)  April 48 72 75

han total functions organized in Hall B & C May 60 |25 |56 64
together in month of May?
g M 3@

o Y el e gttt B om0 1S (8
FT HCAT, TR WA H A B iR C A e July 36 42 80

40

Wwﬁﬁﬁﬁmﬁm(ﬁwm)m%"
(a) 6% \l S P20

=
© 2% \L 57/ e g“

(d) 7%

(e) 8% é{(7
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Find difference between total number of functions Months Hall A HallB Hall C
organized by hall A & B in July and average April 48

number of functions organized by A & B in April? May 60
TS W BT A 3R B gRT ST THRIET hl el

i o arirer i A ot B T ST TR
HT T & S 3t AT hTe? July 3¢
(a) 24

(b) 12

(d) 20

(e) 16

45
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

In month of August total functions organized by Months Hall@ Hall B Hall@
hall A is 20% more than that of functions organized April 48 p) 75
by same hall in May & total functions organized by May @ 56 64
hall C in month of August is 40% more than that of

in previous month, then find total functions

organized by hall A & C together in month of July 36 ( @

\b

June 45 40 30

2

August? ST o WEH | BT A FRT ATAAA el L\\? (0 )(—b, /@ng;

TURIE A H I B1eT gRT ATATAT THRIET bl TetT
H 20% AT § 3R ST o g H 311 C 5T
AT Fel TARIE FUDe WEH 6T qoT § 40%
3TFereh B, A1 et THRIE FTA ohi 3T o AR § Biet
A 3TR C ERT Ueh {1 AT fohaT Tam?

(a) 196 (b)188 (c) 186 (e)178
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

Find the ratio of total functions organized by hall Months HallA  HallB HallC
A & C together in June to total functions organized April 48 7@ S

by hall B & C in April? May 60 56 64

30

ST BTt A 3R C 3T SITATRA el TS oht 29
wieT ¢t B oI C g R e mwE e 10
FTATA T hITSTT? \_7[5— i \ L\:L

4
July 36 42 80
(a) 25:47

(b) 25: 43 LZ N @
(¢c) 49:25
(d) 25:48
() 25:49
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Total functions organized by hall A and B together Months HallA HallB Hall C
in May are what percent more than total functions  April 48 | ‘ é 75

organized by hall C in July?
HS H 2ieT A ﬁTBmmﬁﬁa;wwm,Wﬁ
BT C EI AT hel THRIET & Toha Tfaera
eI 2
(a) 55%
(b) 40%
(&) 45%
(d) 35%
(e) 32.5%
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

4 )
Thank You

Hoqdiq

\_ J
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IBPS CLERK - 2023 HETHIIYeT — Maths (3& fAeiar 35/35)

A B C D

==Total Number of (Boats + Ships) Manufactured
==Total Number of Ships Manufactured
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